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7 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~ - -
s 1.00 | 0.00 ~ 699 88.63 | =nLS | 000 ~ 699 2.48 12.56 st 1.00 | 6.00 ~ 10.00 8863 | #nS | 5,00 ~ 1000| 2.48 12.56
2 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 000 ~ 711 90.29 | =S | 000 ~ 7.11| 249 12.57 st 1.00 | 6.00 ~ 1030 90.29 | =N | 5,00 ~ 1030| 2.49 12.57
3 100kN/m##x5 | 1.00 | 0.00 ~ 081 11204 |3m%E#BZ5 -~ - - -] 100kN/ %825 | 1.00 | 10.79 ~ 1340 11204 |3m%E#BZ% -~
s 1.00 | 081 ~ 859 100.00 | =45t | 0oo ~ 859 | 208 10.52 st 1.00 | .00 ~ 10.79 100.00 | =nst | 6.00 ~ 1340| 2.08 10.52
4 100kN/m%E#BZ5| 1.00| 000 ~ 028 104.16 |3mEEZS -~ - - -1 100kN/mM&#z25 | 1.00 | 1278 ~ 1370 104.16 |3mZ#Bz5 -~
s 1.00 | 028 ~ 807 100.00 | =nst | 0.00 ~ 807 | 2.64 12.86 st 1.00 | .00 ~ 1278 100.00 | =St | 5.00 ~ 13.70| 2.64 12.86
5 100kN/m##8%% | 1.00 | 000 ~ 1.33| 12024 |3m%EBZ% -~ - - -] 100kN/ %825 | 1.00 | 1057 ~ 1480 | 120.24 |3m%E#BZ% -~
s 1.00 | 1.33 ~ 912 100.00 | #nst | 000 ~ 9.12| 2.23 11.27 st 1.00 | 6.00 ~ 1057 100.00 | =nst | 6.00 ~ 1480 2.23 11.27
P 100kN/m%E#8z% | 1.00 | 000 ~ 1.97| 130.37 |3mEiBz% -~ - - -] 100kN/ %8825 | 1.00 | 1080 ~ 17.90| 130.37 |3m%E#BZ% -~
s 1.00 | 1.97 ~ 9.75 100.00 | =St | 000 ~ 9.75 | 2.51 12.66 st 1.00 | 6.00 ~ 1080 100.00 | =nst | 6.00 ~ 1790 2.51 12.66
- 100kN/m%E#8z5| 1.00 | 000 ~ 232| 136.17 |3mE#Bz% -~ - - -] 100kN/ %8825 | 1.00 | 1069 ~ 1980 136.17 |3m%E#BZ% -~
s 1.00 | 232 ~ 110 100.00 | =4t | 0oo ~ 1010| 248 12.51 st 1.00 | 6.00 ~ 1069 100.00 | =nst | 6.00 ~ 1980 2.48 12.51
P 100kN/m%E#8z% | 1.00 | 000 ~ 232 136.17 |3mE#Bz% -~ - - -] 100kN/ %825 | 1.00 | 1069 ~ 1980 136.17 |3m%E#BZ% -~
s 1.00 | 232 ~ 11 100.00 | =5 | 000 ~ 1011| 247 12.51 st 1.00 | 6.00 ~ 10.69 100.00 | =nst | 6.00 ~ 1980 2.47 12.51
9 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - S| 3mEBZD -~
s 1.00 | 000 ~ 712 90.53 | #nRS | 000 ~ 7.12| 2.66 12.87 st 1.00 | 6.00 ~ 1090 90.53 | =hS | 5.00 ~ 1090| 2.56 12.87
10 100kN/mM##BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - S| 3mEBZD -~
s 1.00 | 0.00 ~ 745 95.16 | #nRSY | 000 ~ 7.45| 2.46 12.41 st 1.00 | 6.00 ~ 1090 95.16 | =h4 | 5.00 ~ 1090 2.46 12.41
11 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -] 100kN/m#%#8% % - -~ - S| 3mEBZD -~
s 1.00 | 0.00 ~ 4.29 53.62 | EnRS | 000 ~ 4.29 | 1.99 10.06 st 1.00 | 6.00 ~ 5.00 53.62 | =h4 | 5.00 ~ 565.00| 1.99 10.06
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhest ~ ZFhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhLst ~ ZFhLst ~ FhLst ~ zhLst ~
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